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The 'Dibphantine Equation
x*—1=(y*—1) (z2—1)

by

Kenji Kashihara
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Abstract

I. When we fix z to a constant n, we can show the way to solve it and the results for n£131071

by using "UBASIC.”

II. We consider the first equation on the basis of the results of I. We will give the algorism which
reduces all integral solutions to the obious one (1, n, 1) or (1, 1, n).
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180 W=W¥SD:K=K*SD

190 if W>1 goto 150

200 print "N=";N;"K=";K;"M=";M;
210 ' N*2-20 % &

220 dec Z

230 W=Z

240 LX%=1

250 SD-prmdlv(W)

260 P(L%)=SD v ),
270 W=W¥SD ‘ v

280 if W>1 then inc L¥%: got0\250 T _ i
290 for I%=1 to LX S : S
300 print P(I%);

310 if I%<L% print k'3 .
320 next I% . : r
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"N2 BRHEH? _
if Lx=1 print "B 8 :g0to 1220
if M@4=1 goto 1240
if Ne2=1 goto 410
if L%=2 print "H B M ":goto 1220
R(1)=0
1f M@4=3 then R(1)=1
goto 430
if K=1 then R(1)=1: goto 430
R(1)=modinv(K,P(1)) : v
for 1%=2 to L%
if K=1 then R(I%)=1: goto 460
R(I%X)=modinv(K,P(IX%X))
next I%
print .
for 1%=1 to L% : b
SX(I%)=1 o
print " [";P(I%);",":R(I%);"4'\/-";“;"] n;‘
next I%
print .
REERRD 3.
A=P(1):B=R(1)
C=1l:1%=2
if ged(A,P(1%))=1 then Bls= A*R(I%)*SA(I%) Cl=A:goto 570
Cl= B+R(IV)*S/(I/)
if ged(C1,P(I%))>1 then A=A¥P(I%):C=CxP(I%):goto 620
Bl=B*R(I%)%S%(I1%)+M
X=modinv(Cl,P({I%))
Y=(1-X*Cl)¥P(I%)
B=B#*P(I%)*Y+Bl*X
AsAXP(I%)
B=B@A
ine I%
if I%<=L% goto 530
if C>1 print C;
prlnt " [u.A.n "‘B'""‘\/-"'M'"] n.
" HIE M HiIEOJE B
if C>1 goto 700
if B¥K@A=1 print "HE B ";:g0to 1140
if BxK@A=A-1 print "H Bﬂﬁ";'goto 1140
QM=isqr (M)
Q0=0:Q1=1
S%=0:88%=1
if A>0 then Q=(B+QM)¥A
if ACO then Q=(-B-QM-1)¥(-A)
B=A%Q-B
A= (M-B"2)¥A
inc S%
if S%=1 goto 730
W=Q1:Q1=Q%Q1+Q0:Q0=VW
E=(B-sqr(M))/A
if E>O0 goto 730
if E+1<0 goto 730
if SS%=1 then SS%=0:A0=A:B0=B:goto 850 .
if (A=A0)*(B=B0) goto 1140
if (A=1)%(B=QM)=0 goto 730
prlnt "ﬁlﬁn.

'V K®2EEUT integer? HEEHMWY T integer K TESIH?
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1131
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1320
1330
1335
1340
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1370
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QO=C* (Q1*QM+Q0)
Q1=CiQl «

Priﬁ't "-'(";QO;""‘";Ql;"\/‘";M;")"; : Lo
if Q1@K=0 goto 1130 '

Q2=0:Q3=1

B=QM:A=1

S%=0

if A>0 then Q=(B+QM)¥A

if ACO then Q=(-B-QM-1)¥(-A)
B=A%Q-B

A= (M-B"2)¥A

inc S%

if S%>1 goto 1020

if (A=1)%(B=QM) goto 1040

goto 940 C
W=Q3:Q3=Q%Q3+Q2:Q2=W

if (A=1)*(B=QM)=0 goto 940
Q2=Q3%B+Q2
D=gcd(Q3,K)

if Ql@D goto 1140
print " EE";

W1=Q0QK:W2=Ql@K
W=Q0:Q0=Q2%Q0+Q3%*Q1%M:Ql=WxQ3+Q2%Q1
if Ql@K=0 goto 1130

if (QO@K=W1)*(Ql@K=W2)=0 goto 1090
goto 1140

Y=Ql¥K:X=Q0
Y1=NkY-X:X1=XsN-Y*(N*N-1)

if X1<0 then goto 1139
X=X1:Y=Yl:goto 1131
lprint:lprint "n=";N,X,Y,-X1,Y1
I1%=1L%

S%(1%)==-S%(1%)

if S%(I%)=-1 lprint:goto 510
dec 1%

if 1%>2 goto 1150

if P(1)=2 goto 1210

if I1%=2 goto 1150

print

next N

end .-

if N@2=0 then R(1)=0:I%=2:goto 1260
for I%=1 to L%

if K=1 then G=l:goto 1290
G=modinv(K,P(1%))

if Ga2=0 then G=P(IX)-G

dec G

R(I1%)=G¥2

next I%

print

for I%=1 to L%

S%(I%)=1

print " [";P(I%);".";R(I%);"""(1"'\/-";“;”)/2] u:
next I%

print 5 _
 BHERRD S i}
A=P(1):B=R(1):C=1:1%=2
P=P(i%) :R=R(I%)
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1770
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1800
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1911
1912
1913
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if 8%(1%)=-1 then R=-R-~1

if AGP then Bl=A%R:Cl=A:goto 1420

if (B-R)@P then A=A¥P:C=CxP:goto 1470  ;
Bl=B*R+(M-1)¥4:Cl=B+R+1 .
X=modinv(Cl,P)

Y=(1-C1*X)¥P

B=B*P*Y+B1%xX -

A=A*P

B=B@A

inc IX%

if I%<=L% goto 1370

if C>1 print C;

print ) [";A;",";B;""'(1"‘\/-";“;")/2] n; ,
if (2*xBxK+K)@A=A-1 print "HEf M ";:g0to 192

0

i1f (2%B*K+K)@A=1 print "H O #;:goto 1920

QM=isqr(M

Q0=0:Ql=1:BB=QM

§%=0:88%=1

if BB@2=0 then dec BB
A=A%*2:B=B*2+1

if A>0 then Q=(B+QM) ¥A

if A<O then Q=(-B-QM-1)¥(-A)
B=A*Q~-B _
A=(M-B*2)¥A

inec S% .

if S%=1 goto 1580
W=Q1:Q1=Q%Q1+Q0:Q0=W
E=(B-sqr(M))/A

if E>0 goto 1580

if E+1<0 goto 1580

if SS%=1 then SS%=0:A0=A:B0=B:goto 1700
if (A=A0)*(B=B0) goto 1920

if (A=2)*(B=BB)=0 goto 1580
print nggn; -
Q0=C*QO0+C*Ql1*(BB-1)¥2:Q1=C%Ql
print ”(":QO;"+":Q1:"(1+VI_”;M;II)/2)";
if Qlé(2xK)=0 goto 1910

Q2=0:Q3=1:B=BB:A=2:SX=0

if A>0 then Q=(B+QM)¥A

if ACO then Q=(-B-QM-1)¥(-A)

B=A*Q-B

A=(M-B"2)¥A

inc 8%

if Sx=1 goto 1750

W=Q3:Q3=Q*%Q3+Q2:Q2=W

if (A=2)%(B=BB)=0 goto 1750

D=gcd (Q3,K*2)

if Ql@D gota 1920

Q2=Q3*(BB-1)¥2+Q2

W1i=Q0Q (24K) 1 W2=Ql@(2xK)

r

‘M

W=Q0:Q0=Q2*Q0+Q3%Q1 *(M~1)¥4:QIl=W*Q3+Q2%Q1 +Q1*Q3

if Qla(2*K)=0 goto 1910

if (QOA(2xK)=VW1)*(Ql@(2*K)=W2)=0:goto 1870
goto 1920

X=QO0+Ql¥2:Y=Q1l¥K¥2

Y1=N*¥Y-X:X1=XkN-Y* (N*N-1)

if X1<0Q then goto 1919

X=X1:Y=Yl:g6to 1911
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1919 1print: lprint "h=";N,X,Y, -X1,Y1
1920 Ix=LX%

1930 S%(I%)--S%(I%)

1940 if S%(I%)=-1" lprint goto 13560
1950 dec IX%

1960 if I%>1 goto 1930

. 1970 goto 1210
1980 end

ﬁ— 2 2-1=(%-1) (3*—1) o&&ﬁg%ﬁtxbay’u 75 A

In|£10000, ly|=100001z 381 2 x*—1=(n*~1) (y*—1) DFEEHR

. Y n y i
11 2 % 4 % 90 | 3 % 64 * 05 2519 % | 36 i
23 3 % 134 % 6161 | 4 % 181 * 8322 2566 9t ke 143 o
39 4 % 307 E 5 % 386 2663 3 | 37 1
41 2 % 153 Pox 11 % 900 2811 37 & 38 ¥
59 5 * 584 b .6 % 703 . 2083 | 38 | 39 it
64 3 * 33 Cb % 11 % 1405 3119 39 F 40 i
83 6 * 989 5 7 % 1156 3212 9 i % 179 it
11 7 % 1546 ; 8 % 1760 3279 0! 4 :
134 3 x 781 {ox 23 % 832 3443 a7 42 il
143 8 % 2279 ; 9 % 2566 3571 10 * 179 i
153 2 % 511 box 4 3611 42 | 43 W
179 9 % 3212 a 10 * 3571 3783 43 4
181 4 % 1425 {23 %832 ' 3821 5% =* 38
219 10 * 4369 a 1L * 4808 . 3959 | . 44! 45
263 11 * 5774 : 12 % 6301 4139 4} 46
307 4 % 2417 box 39 4323 46 ! 4
311 12 * 7451 : 13 * 8074 ' 4369 Cow i % 219
363 13 % 9424 g 14 4511 4 48 s
373 3 % 2174 Po%. 64 4552 3% % 781 i
386 5 % 3821 Po% 39 4703 8 | 9| !
419 14 ' : 15 4808 11 % 219 :
476 15 i 16 4899 49 | 50 :
543 16 5 17 5099 50 51 i
571 2 %2131 P % 153 533 | 51 52 '
584 5 % 578l Pox 59 . 5511 52 | 53 ;
611 17 i 18 5723 53 | 54 i
683 18 § 19 5774 1 % 263 1
703 6 * 8377 Po% 59 5781 5: % 584 i
759 19 { 20 5939 " 54 55 i
781 3 % 4552 Pk 1 6159 55 | 56 1
839 2 § 21 6161 | * 23 i * 134 )
90 | * 11 | , 6301 12 * 263 !
923 21 ; 22 6383 5 | 57 |
989 6 iox 83 6611 57 | 58 §
1011 22 5 23 6843 58 | 59 ;
1103 23 i 2 7079 59 | 60 ;
1156 7 ok 83 7319 60 i 61 !
1199 2 § 25 - 51 | 12§ % 31 |
1299 25 i 2 7563 61 i 62 1
1403 26 E 27 7811 62 i 63 g
1405 | * 11 L% . 64 7953 | 2 %2131 L
1425 4 P 18l 8063 63 i 64
1511 27 : 28 8074 131 * 31
1546 7 P 11 8319 64 | 65
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1623 28 | 29 8322 | * 23 i % 13
1739 29 5 30 8377 61 % 703
1769 8 Pox o111 8579 65 i 66
1859 30 ; 31 8843 66 ! 67
1983 31 § 32 9111, 67 | 68
2111 32 : 33 9383 68 69
2131 2 % 7953 Po® 571 9424 13 { * 363
2174 3 ;% 373 9659 69 70
2243 33 ! 9939 0 7
2279 8 P M3 e & S
2379 34 35 33539 2 ¢ * 839
2417 4 Pox 307 129 : 130

F—3 r-1=(r-1) i1 OHEIE

2f$iﬁﬁﬁ x2—1=(y*—1) (1)

2. 1 HEO#EHR ;
MARRLIETOY 5 AOETEREREOHE L7
£10000, ¥ 10000 DEFET % LD bDER I THL
o, TARWTHALBOERBTED, ROJEITn
=33530 OJEEOTMATBW, HELLEETR
ZOBE IR THEEEY 2 EET 20 TR B
TEWLk, nOWMIFEHREL O DETH), 2O
Wiz 2 DIHEBMD ¥y DETH 5, x DEIREOTH 3,
ACHAD Y DESFMETSH S, AER s ATRY
Bl » DERNFHR O LELRTH .

n =11 DBE (x,3) = (19, 2) HET, Wk (—19,2)
LRTH D,

(—19+2 v/120) (11+ v120)

=31+3/120 '

ZOHEIZE D (31,3) % (19,2) ENFRL O L FEET
b5,
I FEEN & * EIDME L HET 3,
n=110t&%y=20EEERTH 3,
£—(118-1) y*=2~11°
y =2 3 ZOHABAOKEBERTH S, L, AULES
B (22-1) 22=2-22
DRLRS LEHRTHS, -
COXS3RBAKPD Y DELEAL LTHE,
A=11OLEy=4liOVTREY FEELT
#—(412-1) 2=2-41*
ORLATHPRVFEEEERTH S,
CDEIRBERDPO Y DEI *HE DI TH B,

2. 2 BEROVT
2—{(n*—1) yp=2—n? (2)

D77 IVRTH Y, Likedto TRADEBFEERD

B LBQONHEBEOKTRERDE ZLichs, o
s> o8 1 RBTRDIEFHTH 3,
EE2 f: (ny)— X, Y)
> X+Y/n-1
=(x+y/a = 1) (n+/n*~ 1)
BES MBI SIOAELOMEfRIVRL
AELEE~BBL, I VEABET 3,
HE (n+V/n*—1)(n—vVa*-1)=1 »
PR X VD LTEER TS5 & 138
L TH S, (x,y) 232)D ¥ >0 DRHLL,
filny)— X, V) T3L
X=mx+y»n-1),Y=x+mny
(6,7) PHIRBE LR IBMLORAOLE, X>x,
Y>0TH5.
(%) BE2RBRIcH3 L &,
X~—x=(n-Dz+y#-1)
=(n~1 {z+y(n+1)}
¥ (n+1)*—2*
=2{n +1) y¥*—2+ n*>0

SX>x
(my)2—2*= y*—2+ n*>0
SY >0

Q.E.D.

H—1 REE
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BB YBEDRER% B,y By f CBLEAS:
By, BESTBLIERE B, RR L fTBLTEONS
R%E By By s B TR EBLTEO LA,
B_y, Bogeereee ET 3 LWBB LD EIZH BBy b
DREBS, LrbBTFRIERTECEI»S, Qng
ﬁﬁ%bfﬁﬂBon(Bn%ﬁﬁ Bxii%iﬁ“).tillﬁ]ﬁﬁ
FEHMEL DFFET 5, ThEBREREWS.

BEY 22— (m2~1) p=2—n2 )
ORBBIFBTHIEMFE y<n, 2>0Tha3,
A By(0,5) 2L yBILDEEET 3 X,
w=V{n*—2)/(n*—1)
Yo ni— 1{n+y/n*—1)
=y (n*~1)+ nyo/n?— 1
f: Bp—> BTk,
B, (30(n*~1), ny,)
e <n
(nyo)2—(n ~1)2
= (=2 —(n —1)*(n*~1)
n—1
BF=2n(n*— n—1)+1>0
Sonp > n—1

S 1< mp< n
& o TRIOEHIR BB, L iz 5 &Mkt
x>0,y<nTh3,

ER6 12o085EH»SBEEERDLCIf £
fITBTILERVEL  OBRENEDL 2B B
Tx>0,y>00K52hifBy, 1% y&izlaL
THHRRBT L RBR R LOORFERBEOIN S,

2. 3 MROEE

2.3.1 £3DyDMiz2,3, 3,4
D& 3 HEET 5 HRESREA TS,

(1, n)

(n+1,27%+2n —1)

@2n*+2n—1,n)

H—2 MHEORE

PFracioMoy, :0fieRL, xDHIRER
LT#ET.
A+/W= 1) n+/w=1)
=W+ a-D+n+DvVn— 1
A+V~ 1) (n+ /A — 1)
= o o + 202420 -1V n2-1
2T 22 nEAET 5 & HHRORF
(1,m) — (n+1,n)
— 2 +2n—1,m) ¢+ ¢+
ot 1Y (-
(n+Ln) HEHL, Y% n+1cEETZE
(B+n—1+n/{n+1)0~1)
Xn+1+{n+1)0-1)
=e e+ Q+in-DSAn+10-1
Sn+l,n) — (n+1,2n24+20n 1)
N=2n+2n-<1 L <, .
(N Bzed2RBEELLABRATCRATFEAROR
FICET 288, yENCERLLZABRATRS La<N
&0, TRBREWTHY, nxl, N—1 X FEHER
ThH3, WE»S (n, N) bBTzENCEET S &
EY=ni3EEBRTHE2. (n+L,N) bER LT 2
ENZEET 2 E2y=n+]1 13EHBEBLrwL S,
HEI0 N=2n+2n—-1Dr %
2~ (N?—1) y?=2— N*
By=ny=n+1%3FEHERELD,
TRbLL, ROEBEERHSED IO,
27 +20*—2n ~1)2—1
={(27n*+2% —1)*-1}(n*—1)
Qw+in—1)3~1
={(n +1)2—1} {@n?+2n -1)?—1}

2,3 2 :
FOMOIEBEBCOVT HEHEEL ORET Z T
EHFERD SN, n=41B XU n=0000D L & DI H
BRVEAENS PDEICRET 22 2H IR
7. ETORER 2 2BE L HFRROAHRTDH
D, BT ORER Y 2EE L ABERORHEETH
3. #10BBCHITFTBWI2=335300F& 6 E¢
L0BEshTHS,

2. 4 &%

EE TEHBER
#—1=(P-1)(2~1)

OEREIZ T~ THER

(%32 ={1,1,7), {1, n1)

T e e

S o

e e

T R

Tt B
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(5 22)

(yz, 31)

E—3 MoE

X DIRET 3.

BER7  (+1,0,+1), (£1, +1,0)

(£1,£1, £1) BRVWTEL 3,
FEAOMNHFELS £, 5, 250 &7 3,

i B8EE0,1L, ), (1,%,1), 222 X DHREBL, ¥
¥R 20RThr2EELTTE 3 5BAOREE
BLLT, 12080 2 2OBFRAICERLIRET 3.

Mic, EROBKBRHHZ LY E ik z ¥ EELEA

BROBRFREN L2 BB LD

min(y, 2) BELL, 2icy Ehidza1ick3, 3

RbHEARLVRETIETHS. RETIHER

220HBBEZOR—HEBVTRAFEETCHZ 05T

~RBEE—ETHY, ThoDROBITET S

Lk,

(21,20)

(839, 20)

(839, 33539)

(33539, 20) (1,129)

(130, 129)

(130, 33539)

(33539, 129)

E—4 BORE

2. 5 #byic

3X8=24D & > LWiIMITH 2 DHE S kv 5 5EHE
ERTICAOCTOREEARFELERFEOHRREET
b5, FRARERBRZBORIUVR-EETBEZADOT
HREOEEOE, CICEBOBRERL 2T, 4B,
AL &> %2RTAEHER

(£1) = (y*£1) (22£1)
BEIZOND, RERBERFLZWI EPELOSN,
BELOBERIOMBELAUFETHRI S LEXTY
3,

3. @t
(1) E*ﬁ?"‘ ?J%ﬁ&éﬁﬁi 37 iR, p. 208-—240,
p. 288—292, p.321—348 3

(2) N % BEREE, 25, p. 1220, p. 177—186
(3) AME#T ; UBASICS6, HAERH




